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[AAERE] . Wl 1| NSRRI SR EIER 758 BRI F 58
THFRESF LR TRERT N Fo 2, B FJF, = L, =2.27x10%° = Jkfi v K%, X2 R AF 5] 11
[l AL B AR 5% B A B AN EE R Re 1€5 01k, WIB ST MRSR B 984% /) F, R 2 20
Bl fEFHR Ly 20T, BOE— MRS BRIRUEI My, = 0.71x10"g /B, H R4
k., TR 2T S ZIERSEZ F, 51IE00R 7 2 (8 i) FARFEEREMFERZS w2 b,
BERT H X EEAHELS R Fy/Fe Z L, 7 A3 Fy/F, = Vo = 137.036 = B ER. T2 2 ihianss
FJ % 80 (Fine-structure constant) F— Bt i
---- Richard Feynman: It has been a mystery ever since it was discovered more than fifty years ago, and all good
theoretical physicists put this number up on their wall and worry about it... It's one of the greatest damn mysteries of
physics: a magic number that comes to us with no understanding by man. You might say the "hand of God" wrote

that number, and “we don't know how He pushed his pencil.”
(FKIR4E: RS KT IR B S HE R SR Ve = Fo/F = hC/(2ne?), L, Vo B,
Academia Arena 2013;5(2);61-63] (ISSN 1553-992X). http://www.sciencepub.net/academia. 13

[e8iA) o K 45 H 3 FyF. =1/0 = hC/(2me?) = 137.036; K& 45 M HE 1o IR XL Ikh e K3,

Fo/F, L, =10%; SR My, = 0.71x10'g;

[1] . BBEEWER 1o W E N /e = hC/Q2ae’)
=137.036, FHT[#EH:

/o= hC/(2me’) =137.036 __=F,/F,_ (1a)

£ BT (la)H, H B0 E E h = 6.626x107g
.cm?/s; 6 C = 2.998x10"cm/s; L FHE e =
4.80325x10 "esu = 1.6022x107°C (FE1E) ; T2,
l/o = hC/2mre’) = 6.626x1077x2.998x10'/[2
(4.80325 x10~'%)*] = 137.0368 ~ 137.036.
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=137.036.
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=9.0x10°x10°x10*x(1.6022x10"°C)* /R*= 23.10x102"/
R U (2b)

Fo/Fy = L,=23.10x107°/101.67x10%=2.27x10"
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S./Sp = 10"M,,/M,, 112! (42)
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T Fu/Fy = Fo/FxF/F, =1/axL,=L,/a
=2.27x10*x137.036 = 3.11x10*! (59)
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The Fine-structure Constant, 1/o = Fn/F. = hC/(2 e?), Has Just Firstly Derived
With Author’s New Black-hole Concepts and Formulas
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2/5/2013.

[ Abstract] . With the hydrogen atom as a model and contrast, a proper ratio F./F, between the electromagnetic
force F, and the gravitational force F, could be established as a famous Dirac large number L, = F./F~ 10%.
Drawing the same mathematical and physical analogy, a special mini black hole of My, = 0.71x10"*g can be a better
choice as a model, in which all quarks decomposed from protons must have the electrical force F. and the strong
nuclear force F,. Thus, the proper ratio F,/F,. between F, and F. was correctly established and proved that, F,/F.
should just be the fine-structure constant, and F,/F.= /o= hC/(27tez) =137.036.
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